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10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 26.9 -28. 6 34.41 8.5 ~ 22.5]| 48600 s 33.7| 1800 s 22. 4
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 28. 4 -29. 1 28.9/ 8.5 ~ 22.5| 48600 s 28.2| 1800 s 16.9
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 46.0 -33.3 24.7| 8.5 ~ 22.5| 48600 s 24.0| 1800 s 12.7
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 10. 2 -20.2 32.3] 0~ 24 | 57600 s 32.3| 28800 s 32.3
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 10. 4 -20. 4 38.6] 0 ~ 24 | 57600 s 38.6| 28800 s 38.6
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 11.5 -21.2 29.3] 0~ 24 | 57600 s 29. 3| 28800 s 29.3
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 11.7 -21.4 37.6] 0 ~ 24 | 57600 s 37.6| 28800 s 37.6
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 27.9 -28.9 25.1] 0~ 24 | 57600 s 25.1| 28800 s 25.1
18|57 7 v~ F1 10 | 32.0 A=h—fi 69.9| 46.1 4.2 41.4 -32.3 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 41.8 -32. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 42.2 -32.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 7.1 -17.0 28.0/ 8.5 ~ 22.5]| 48600 s 27.3| 1800 s 16.0
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 7.5 -17.5 27.5/ 8.5 ~ 22.5| 48600 s 26.8| 1800 s 15.5
23 (a7 7 F6 10 | 45.0 A=h—fi 93.0| 81.4 4.1 7.9 -18.0 27.0/ 8.5 ~ 22.5]| 48600 s 26.3| 1800 s 15.0
24 |57 7~ F7 10 | 45.0 P A ) 93.5| 81.4 4.1 8.4 -18. 4 26.6| 8.5 ~ 22.5| 48600 s 25.9| 1800 s 14.6
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 8.8 -18.9 26.1/ 8.5 ~ 22.5| 48600 s 25.4| 1800 s 14. 1
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 9.3 -19.3 25.7| 8.5 ~ 22.5| 48600 s 25.0| 1800 s 13.7
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 9.7 -19.7 25.3/ 8.5 ~ 22.5]| 48600 s 24.6| 1800 s 13.3
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 10. 2 -20. 1 24.9| 8.5 ~ 22.5]| 48600 s 24.2| 1800 s 12.9
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 10.6 -20.5 24.5| 8.5 ~ 22.5]| 48600 s 23.8| 1800 s 12.5
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 11.1 -20.9 24.1/ 8.5 ~ 22.5]| 48600 s 23.4| 1800 s 12. 1
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 11.6 -21.3 23.7| 8.5 ~ 22.5]| 48600 s 23.0| 1800 s 11.7
32 (KT 7 F15 1M | 45.0 A=h—fi 97.5| 8l.4 4.1 12.0 -21.6 23.4/ 8.5 ~ 22.5]| 48600 s 22.7| 1800 s 11.4
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 17.8 -25.0 7.0/ 8.5 ~ 22.5[ 48600 s 6.3 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 19.2 -25.7 6.3] 8.5 ~ 22.5| 48600 s 5.6 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 21.7 -26. 7 18.3/ 8.5 ~ 22.5| 48600 s 17.6| 1800 s 6.3
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 36.5 -31.3 0.2] 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
37 (KT 7 F20 10 | 45.0 b | 107.4| 52.3 3.6 38.3 -31.7 13.31 8.5 ~ 22.5| 48600 s 12.6| 1800 s 1.3
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 39.7 -32.0 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 38.8| BIFE1 23.6
%‘J filf SIE & S H AT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 22.0 - -
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 44. 1 -32.9 56.3] 6 ~ 22 360 s 34.3 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 44.1 -32.9 59.0/ 6 ~ 22 70 s 29. 8 - -
iﬁ MSEEEHOT A K T 1 | 78.6 FolxFE| 104.8] 44.1 1.0 44. 1 -32.9 45.71 6 ~ 22 300 s 22.9 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 44. 1 -32.9 52.6| 6~ 22 300 s 29.8 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 44.1 -32.9 52.71 6~ 22 50 [|] 22.1 — —
SATERAS L~ L T 48.2 dB 42.8 dB
BRI ILYE 55 dB 45 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SB (H=1.2m)

TSR (X, Y, 7) =( 132.4 67.0 , 1.2)
TR0 ® HEIR A TR B el
‘ ‘ TS g | ep02 | BOTE | g | 7 e | 1
. RN FTO | o BRENGE | TR | BREAkGE | TS
Bl JE IR as | pm | mE < v , g | PotE | EE Sk B | IcBUs | EG) | ICB0D
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L
[EE= (G (dB) k= (G (dB)
| |EA A=A AC1 1M | 52.0 J=h~fE | 100.4[ 93.5 1.0 41.6 -32. 4 19.6/ 8.5 ~ 22.5| 48600 s 18.9] 1800 s 7.6
% 2 |ZE =AM AC2Z | 1B | 50.0 A=f—fE | 105.5|  93.5| 1.0 37.8 -31.6 18.4[ 8.5~ 22.5[ 48600 s 17.7| 1800 s 6.4
ff 3 |Z=FH M =M% AC3 | BARL| 63.0 A= 85.3| 67.5 6.7 47.4 -33.5 29.5| 8.5 ~ 22.5]| 48600 s 28.8| 1800 s 17.5
) 4 |22 M =% AC4 | BAR | 63.0 A=h-fE 86.6| 67.5 6.7 46. 1 -33.3 29.7| 8.5 ~ 22.5]| 48600 s 29.0| 1800 s 17.7
5 |4 =5k AC5 | EBRE| 63.0 A=h—fE 88.0| 67.5 6.7 44. 8 -33.0 30.0/ 8.5 ~ 22.5]| 48600 s 29.3| 1800 s 18.0
6 |45 =5k AC6 | iR L | 63.0 A=h—fil 89.3| 67.5 6.7 43. 4 -32.8 30.2] 8.5 ~ 22.5]| 48600 s 29.5 1800 s 18.2
7 |22 S ACT | BARL| 60.0 A=t 85.3| 65.7 6.7 47.5 -33.5 26.5| 8.5 ~ 22.5| 48600 s 25.8| 1800 s 14.5
8 |22 M =M% AC8 | BARL| 60.0 F=h—{i 86.6| 65.7 6.7 46.1 -33.3 26.7| 8.5 ~ 22.5| 48600 s 26.0| 1800 s 14.7
9 (2= H =AM AC9 | BIR L[ 60.0 A= 88.0| 65.7 6.7 44. 8 -33.0 27.0[ 8.5 ~ 22.5]| 48600 s 26.3| 1800 s 15.0
10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 29. 6 -29. 4 33.6] 8.5 ~ 22.5| 48600 s 32.9] 1800 s 21.6
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 29. 8 -29.5 28.5/ 8.5 ~ 22.5| 48600 s 27.8| 1800 s 16.5
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 66. 1 -36. 4 21.6/ 8.5 ~ 22.5| 48600 s 20.9| 1800 s 9.6
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 47.1 -33.5 19.00 0 ~ 24 | 57600 s 19.0] 28800 s 19.0
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 45. 2 -33.1 25.9] 0~ 24 | 57600 s 25.9| 28800 s 25.9
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 46. 8 -33.4 17.1] 0~ 24 | 57600 s 17. 1| 28800 s 17.1
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 44.9 -33.0 26.00 0 ~ 24 | 57600 s 26.0| 28800 s 26. 0
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 28.3 -29.0 25.00 0~ 24 | 57600 s 25.0| 28800 s 25.0
18|57 7 v~ F1 10 | 32.0 A=h—fi 69.9| 46.1 4.2 66. 0 -36. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 66. 1 -36. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 66. 3 -36. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 43.0 -32.7 12.3/ 8.5 ~ 22.5| 48600 s 11.6| 1800 s 0.3
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 42.6 -32.6 12.4] 8.5 ~ 22.5| 48600 s 11.7| 1800 s 0.4
23 (a7 7 F6 10 | 45.0 A=h—fi 93.0| 81.4 4.1 42.1 -32.5 12.5/ 8.5 ~ 22.5| 48600 s 11.8| 1800 s 0.5
24 |57 7~ F7 10 | 45.0 P A ) 93.5| 81.4 4.1 41.6 -32. 4 12.6/ 8.5 ~ 22.5| 48600 s 11.9 1800 s 0.6
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 41.1 -32.3 12.7/ 8.5 ~ 22.5| 48600 s 12.0[ 1800 s 0.7
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 40.7 -32.2 12.8/ 8.5 ~ 22.5| 48600 s 12.1| 1800 s 0.8
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 40. 2 -32. 1 12.9/ 8.5 ~ 22.5| 48600 s 12.2| 1800 s 0.9
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 39. 7 -32.0 13.0/ 8.5 ~ 22.5| 48600 s 12.3| 1800 s 1.0
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 39.3 -31.9 13.1] 8.5 ~ 22.5| 48600 s 12.4| 1800 s 1.1
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 38.8 -31.8 13.2/ 8.5 ~ 22.5| 48600 s 12.5 1800 s 1.2
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 38. 4 -31.7 13.3/ 8.5 ~ 22.5| 48600 s 12.6| 1800 s 1.3
32 (KT 7 F15 1M | 45.0 A=h—fi 97.5| 8l.4 4.1 37.9 -31.6 13.4] 8.5 ~ 22.5| 48600 s 12.7| 1800 s 1.4
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 40.7 -32.2 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 39.5 -31.9 0.1/ 8.5 ~ 22.5]| 48600 s 0.0[ 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 32.3 -30. 2 14.8/ 8.5 ~ 22.5| 48600 s 14.1| 1800 s 2.8
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 28.1 -29.0 2.5[8.5 ~ 22.5[ 48600 s 1.8| 1800 s 0.0
37 (KT 7 F20 10 | 45.0 b | 107.4| 52.3 3.6 29.1 -29.3 15.7/ 8.5 ~ 22.5| 48600 s 15.0 1800 s 3.7
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 30.0 -29.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 34.4| BIFE1 19.3
%‘J filf SIE & S H AT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 23.2 - -
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 35.8 -31. 1 58.1] 6 ~ 22 360 s 36. 1 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 35. 8 -31.1 60.8] 6 ~ 22 70 s 31.6 - -
iﬁ MSEEEHOT A K T 1 | 78.6 FolxFE| 104.8] 44.1 1.0 35.8 -31. 1 47.5| 6 ~ 22 300 s 24.7 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 35.9 -31. 1 54.4 6 ~ 22 300 s 31.6 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 35.9 -31.1 54.5| 6 @~ 22 50 [|] 23.9 — —
SATERAS L~ L T 42.8 dB 32.7 dB
BRI ILYE 55 dB 45 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FHH#ASC (H=1.2m)

TSR (XY, 7) =( 95.3 6.6, 1.2)
TR0 ® HEIR A TR B el
‘ ‘ TS g | ep02 | BOTE | g | 7 e | 1
. RN FTO | o BRENGE | TR | BREAkGE | TS
Bl JE IR as | pm | mE < v , g | PotE | EE Sk B | IcBUs | EG) | ICB0D
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L
[EE= (G (dB) k= (G (dB)
| |EA A=A AC1 1M | 52.0 J=h~fE | 100.4[ 93.5 1.0 87.1 -38.8 13.2] 8.5 ~ 22.5]| 48600 s 12.5| 1800 s 1.2
% 2 |ZE =AM AC2Z | 1B | 50.0 A=f—fE | 105.5|  93.5| 1.0 87.5 -38.8 11.2[8.5 ~ 22.5[ 48600 s 10.5[ 1800 s 0.0
ff 3 |Z=FH M =M% AC3 | BARL| 63.0 A= 85.3| 67.5 6.7 62.0 -35.8 27.2| 8.5 ~ 22.5]| 48600 s 26.5| 1800 s 15.2
) 4 |22 M =% AC4 | BAR | 63.0 A=h-fE 86.6| 67.5 6.7 61.8 -35.8 27.2| 8.5 ~ 22.5]| 48600 s 26.5| 1800 s 15.2
5 |4 =5k AC5 | EBRE| 63.0 A=h—fiE 88.0| 67.5 6.7 61.6 -35. 8 27.2/ 8.5 ~ 22.5| 48600 s 26.5 1800 s 15. 2
6 |45 =5k AC6 | iR L | 63.0 A=h—fil 89.3| 67.5 6.7 61.5 -35.8 27.20 8.5 ~ 22.5]| 48600 s 26.5| 1800 s 15. 2
7 |22 S ACT | BARL| 60.0 A=t 85.3| 65.7 6.7 60. 1 -35.6 24.4/ 8.5 ~ 22.5| 48600 s 23.7| 1800 s 12. 4
8 |22 M =M% AC8 | BARL| 60.0 F=h—{i 86.6| 65.7 6.7 59.9 -35.6 24.4/ 8.5 ~ 22.5]| 48600 s 23.7| 1800 s 12. 4
9 (2= H =AM AC9 | BIR L[ 60.0 A= 88.0| 65.7 6.7 59. 8 -35.5 24.50 8.5 ~ 22.5]| 48600 s 23.8| 1800 s 12.5
10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 58.5 -35.3 27.71 8.5 ~ 22.5]| 48600 s 27.0[ 1800 s 15. 7
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 56. 6 -35. 1 22.9/ 8.5 ~ 22.5| 48600 s 22.2| 1800 s 10.9
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 41.8 -32. 4 25.6/ 8.5 ~ 22.5| 48600 s 24.9| 1800 s 13.6
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 69. 6 -36.9 15.6] 0 ~ 24 | 57600 s 15. 6| 28800 s 15.6
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 69. 4 -36.8 22.2| 0~ 24 | 57600 s 22.2| 28800 s 22.2
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 68. 2 -36. 7 13.8] 0 ~ 24 | 57600 s 13. 8| 28800 s 13.8
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 67.9 -36. 6 22.4] 0~ 24 | 57600 s 22. 4| 28800 s 22.4
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 58.6 -35. 4 18.6| 0~ 24 | 57600 s 18.6| 28800 s 18.6
18|57 7 v~ F1 10 | 32.0 A=h—fi 69.9| 46.1 4.2 47.0 -33. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 46. 6 -33. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 46. 3 -33.3 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
23 (a7 7 F6 10 | 45.0 A=h—fi 93.0| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
24 |57 7~ F7 10 | 45.0 F=h—M 93.5| 81.4 4.1 74.9 -37.5 7.5[8.5 ~ 22.5[ 48600 s 6.8 1800 s 0.0
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 74.8 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 74.8 -37.5 7.5[8.5 ~ 22.5[ 48600 s 6.8 1800 s 0.0
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5[ 48600 s 6.8 1800 s 0.0
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 74.9 -37.5 7.5[8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
32 (KT 7 F15 1M | 45.0 A=h—fi 97.5| 8l.4 4.1 74.9 -37.5 7.5/8.5 ~ 22.5| 48600 s 6.8 1800 s 0.0
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 86. 7 -38.8 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 86. 8 -38.8 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 81.7 -38.2 6.8/ 8.5 ~ 22.5| 48600 s 6.1 1800 s 0.0
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 49.4 -33.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
37 (KT 7 F20 10 | 45.0 b | 107.4| 52.3 3.6 47.3 -33.5 11.5/ 8.5 ~ 22.5| 48600 s 10.8| 1800 s 0.0
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 45.7 -33.2 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 39.7| BIFE1 24.9
%‘J filf SIE & S H AT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 29.1 - -
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 38.7 -31.8 57.4] 6 @~ 22 360 s 35.4 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 38.7 -31.8 60.1] 6 ~ 22 70 s 30.9 - -
iﬁ MSEEEHOT A K T 1 | 78.6 THl&E| 104.8] 44.1 1.0 38.7 -31.8 46.8] 6 ~ 22 300 s 24. 0 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 38.7 -31.8 53.71 6~ 22 300 s 30.9 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 38.7 -31.8 53.8] 6 @~ 22 50 [|] 23.2 — —
SATERAS L~ L T 43.1 dB 30. 2 dB
BRI ILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SD (H=1.2m)

TSR (XY, 7) =(  14.5 43.3 , 1.2 )
TR0 ® HEIR A TR B el
‘ ‘ TS g | ep02 | BOTE | g | 7 e | 1
. RN FTO | o BRENGE | TR | BREAkGE | TS
Bl JE IR as | pm | mE < v , g | PotE | EE Sk B | IcBUs | EG) | ICB0D
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L
[EE= (G (dB) k= (G (dB)
| |EA A=A AC1 1M | 52.0 J=h~fE | 100.4[ 93.5 1.0 99.5 -40.0 12.0/ 8.5 ~ 22.5| 48600 s 11.3] 1800 s 0.0
% 2 |ZE =AM AC2Z | 1B | 50.0 A=f—fE | 105.5|  93.5| 1.0 103.9 -40.3 9.7/ 8.5 ~ 22.5| 48600 s 9.0] 1800 s 0.0
ff 3 |Z=FH M =M% AC3 | BARL| 63.0 A= 85.3| 67.5 6.7 75.0 -37.5 25.5| 8.5 ~ 22.5| 48600 s 24.8| 1800 s 13.5
) 4 |22 M =% AC4 | BAR | 63.0 A=h-fE 86.6| 67.5 6.7 76.3 -37.6 25.4| 8.5 ~ 22.5]| 48600 s 24.7| 1800 s 13.4
5 |4 =5k AC5 | EBRE| 63.0 A=h—fE 88.0| 67.5 6.7 77.5 -37.8 25.2/ 8.5 ~ 22.5| 48600 s 24.5| 1800 s 13.2
6 |45 =5k AC6 | iR L | 63.0 A=h—fil 89.3| 67.5 6.7 78.8 -37.9 25.10 8.5 ~ 22.5]| 48600 s 24. 4| 1800 s 13.1
7 |22 S ACT | BARL| 60.0 A=t 85.3| 65.7 6.7 74. 4 -37. 4 22.6/ 8.5 ~ 22.5| 48600 s 21.9| 1800 s 10.6
8 |22 M =M% AC8 | BARL| 60.0 F=h—{i 86.6| 65.7 6.7 75. 7 -37.6 22.4| 8.5 ~ 22.5]| 48600 s 21.7| 1800 s 10. 4
9 (2= H =AM AC9 | BIR L[ 60.0 A= 88.0| 65.7 6.7 77.0 -37.7 22.3] 8.5 ~ 22.5]| 48600 s 21.6| 1800 s 10.3
10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 91.6 -39.2 23.8{ 8.5 ~ 22.5]| 48600 s 23.1| 1800 s 11.8
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 91.1 -39. 2 18.8[ 8.5 ~ 22.5| 48600 s 18.1| 1800 s 6.8
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 58.0 -35.3 22.7| 8.5 ~ 22.5| 48600 s 22.0| 1800 s 10.7
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 79.0 -37.9 14.6] 0 ~ 24 | 57600 s 14. 6| 28800 s 14.6
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 80. 8 -38.1 20.9] 0 ~ 24 | 57600 s 20.9| 28800 s 20.9
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 78. 4 -37.9 12.6| 0~ 24 | 57600 s 12. 6| 28800 s 12.6
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 80. 2 -38.1 20.9] 0 ~ 24 | 57600 s 20.9| 28800 s 20.9
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 92.8 -39. 4 14.6| 0 ~ 24 | 57600 s 14.6| 28800 s 14.6
18|57 7 v~ F1 1R | 32.0 A=h—fi 69.9| 46.1 4.2 55.5 -34.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 55.5 -34.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 55.5 -34.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 86. 4 -38.7 6.3] 8.5 ~ 22.5| 48600 s 5.6 1800 s 0.0
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 86.8 -38.8 6.2] 8.5 ~ 22.5| 48600 s 5.5 1800 s 0.0
23 (a7 7 F6 1B | 45.0 A=h—fi 93.0| 81.4 4.1 87.3 -38.8 6.2] 8.5 ~ 22.5| 48600 s 5.5 1800 s 0.0
24 |57 7~ F7 10 | 45.0 P A ) 93.5| 81.4 4.1 87.7 -38.9 6.1/ 8.5 ~ 22.5| 48600 s 5.4 1800 s 0.0
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 88. 2 -38.9 6.1/ 8.5 ~ 22.5| 48600 s 5.4 1800 s 0.0
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 88.6 -39.0 6.0[ 8.5 ~ 22.5| 48600 s 5.3 1800 s 0.0
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 89. 1 -39.0 6.0[ 8.5 ~ 22.5| 48600 s 5.3 1800 s 0.0
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 89.5 -39.0 6.0[ 8.5 ~ 22.5| 48600 s 5.3 1800 s 0.0
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 90. 0 -39. 1 5.9/ 8.5 ~ 22.5| 48600 s 5.2| 1800 s 0.0
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 90. 4 -39.1 5.9/ 8.5 ~ 22.5[ 48600 s 5.2 1800 s 0.0
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 90.9 -39. 2 5.8/ 8.5 ~ 22.5[ 48600 s 5.1 1800 s 0.0
32 (KT 7 F15 1B | 45.0 A=h—fi 97.5| 8l.4 4.1 91.3 -39.2 5.8/ 8.5 ~ 22.5[ 48600 s 5.1 1800 s 0.0
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 100. 1 -40. 0 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 101.5 -40. 1 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 102. 8 -40. 2 4.8/8.5 ~ 22.5| 48600 s 4.1 1800 s 0.0
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 93.5 -39. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
37 (KT 7 F20 1B | 45.0 b | 107.4| 52.3 3.6 93.3 -39. 4 5.6/ 8.5 ~ 22.5[ 48600 s 4.9 1800 s 0.0
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 93.2 -39. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 41.4| RIFE1 20. 0
%‘J filf SIE & S H AT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 18.0 - -
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 90. 3 -39. 1 50.1] 6 ~ 22 360 s 28. 1 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 90. 3 -39.1 52.8/ 6 @~ 22 70 s 23.6 - -
iﬁ MSEEEHOT A K T 1 | 78.6 THl&E| 104.8] 44.1 1.0 90. 3 -39. 1 39.5] 6 0~ 22 300 s 16. 7 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 90.3 -39.1 46.4] 6 ~ 22 300 s 23.6 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 90. 3 -39. 1 46.5| 6 ~ 22 50 [|] 15.9 — —
SATERAS L~ L T 42.4 dB 27.6 dB
BRI ILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SE (H=1.2m)

TSR (XY, 7) =( 13.0 63.7 , 1.2)
TR0 ® HEIR A TR B el
‘ ‘ TS g | ep02 | BOTE | g | 7 e | 1
. RN FTO | o BRENGE | TR | BREAkGE | TS
Bl JE IR as | pm | mE < v , g | PotE | EE Sk B | IcBUs | EG) | ICB0D
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L
[EE= (G (dB) k= (G (dB)
| |EA A=A AC1 1M | 52.0 J=h~fE | 100.4[ 93.5 1.0 92. 4 -39.3 12.7/ 8.5 ~ 22.5| 48600 s 12.0| 1800 s 0.7
% 2 |ZE =AM AC2Z | 1B | 50.0 A=f—fE | 105.5|  93.5| 1.0 97.2 -39.8 10.2[ 8.5 ~ 22.5| 48600 s 9.5 1800 s 0.0
ff 3 |Z=FH M =M% AC3 | BARL| 63.0 A= 85.3| 67.5 6.7 72.6 -37.2 25.8/ 8.5 ~ 22.5| 48600 s 25.1| 1800 s 13.8
) 4 |22 M =% AC4 | BAR | 63.0 A=h-fE 86.6| 67.5 6.7 74.0 -37.4 25.6| 8.5 ~ 22.5| 48600 s 24.9| 1800 s 13.6
5 |4 =5k AC5 | EBRE| 63.0 A=h—fE 88.0| 67.5 6.7 75.3 -37.5 25.5/ 8.5 ~ 22.5]| 48600 s 24.8| 1800 s 13.5
6 |45 =5k AC6 | iR L | 63.0 A=h—fil 89.3| 67.5 6.7 76. 6 -37.7 25.3] 8.5 ~ 22.5| 48600 s 24.6| 1800 s 13.3
7 |22 S ACT | BARL| 60.0 A=t 85.3| 65.7 6.7 72.6 -37.2 22.8/ 8.5 ~ 22.5| 48600 s 22.1| 1800 s 10.8
8 |22 M =M% AC8 | BARL| 60.0 F=h—{i 86.6| 65.7 6.7 73.9 -37. 4 22.6| 8.5 ~ 22.5| 48600 s 21.9| 1800 s 10.6
9 (2= H =AM AC9 | BIR L[ 60.0 A= 88.0| 65.7 6.7 75. 2 -37.5 22.50 8.5 ~ 22.5]| 48600 s 21.8| 1800 s 10.5
10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 90. 7 -39.2 23.8{ 8.5 ~ 22.5]| 48600 s 23.1| 1800 s 11.8
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 90. 7 -39. 2 18.8[ 8.5 ~ 22.5| 48600 s 18.1| 1800 s 6.8
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 63. 8 -36. 1 21.9/ 8.5 ~ 22.5| 48600 s 21.2| 1800 s 9.9
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 74.6 -37.5 1500 0 ~ 24 | 57600 s 15.0] 28800 s 15.0
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 76.5 -37.7 21.3] 0~ 24 | 57600 s 21.3| 28800 s 21.3
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 74. 4 -37. 4 13.1| 0 ~ 24 | 57600 s 13. 1| 28800 s 13.1
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 76. 3 -37.7 21.3] 0~ 24 | 57600 s 21.3| 28800 s 21.3
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 92.0 -39.3 14.71 0~ 24 | 57600 s 14.7| 28800 s 14.7
18|57 7 v~ F1 10 | 32.0 A=h—fi 69.9| 46.1 4.2 59. 7 -35.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 59. 8 -35.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 59.9 -35.6 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 81.0 -38.2 6.8/ 8.5 ~ 22.5| 48600 s 6.1| 1800 s 0.0
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 81.5 -38.2 6.8/ 8.5 ~ 22.5| 48600 s 6.1 1800 s 0.0
23 (a7 7 F6 10 | 45.0 A=h—fi 93.0| 81.4 4.1 82.0 -38.3 6.7 8.5 ~ 22.5| 48600 s 6.0[ 1800 s 0.0
24 |57 7~ F7 10 | 45.0 F=h—M 93.5| 81.4 4.1 82.5 -38.3 6.7 8.5 ~ 22.5| 48600 s 6.0[ 1800 s 0.0
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 83.0 -38. 4 6.6]8.5 ~ 22.5| 48600 s 5.9 1800 s 0.0
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 83.5 -38. 4 6.6] 8.5 ~ 22.5| 48600 s 5.9 1800 s 0.0
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 84. 0 -38.5 6.5( 8.5 ~ 22.5| 48600 s 5.8 1800 s 0.0
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 84. 4 -38.5 6.5 8.5 ~ 22.5| 48600 s 5.8 1800 s 0.0
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 84.9 -38.6 6.4/ 8.5 ~ 22.5| 48600 s 5.7 1800 s 0.0
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 85. 4 -38.6 6.4/ 8.5 ~ 22.5| 48600 s 5.7 1800 s 0.0
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 85.9 -38.7 6.3] 8.5 ~ 22.5| 48600 s 5.6 1800 s 0.0
32 (KT 7 F15 1M | 45.0 A=h—fi 97.5| 8l.4 4.1 86. 4 -38.7 6.3]8.5 ~ 22.5| 48600 s 5.6 1800 s 0.0
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 93.1 -39. 4 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 94. 6 -39.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 97.4 -39.8 5.2/ 8.5 ~ 22.5[ 48600 s 4.5 1800 s 0.0
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 94.9 -39.5 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
37 (KT 7 F20 1B | 45.0 b | 107.4| 52.3 3.6 95.1 -39. 6 5.4/ 8.5 ~ 22.5| 48600 s 4.7 1800 s 0.0
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 95. 3 -39. 6 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 42.4| RIFE 1 19.8
%‘; fiif SUF & FH ELT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 17.4 - —
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 93.9 -39.5 49.71 6 @~ 22 360 s 27.7 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 93.9 -39.5 52.4 6 @~ 22 70 s 23. 2 - -
iﬁ MSEEEHOT A K T 1 | 78.6 THl&E| 104.8] 44.1 1.0 93.9 -39.5 39.11 6~ 22 300 s 16.3 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 93.9 -39.5 46.0 6 ~ 22 300 s 23.2 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 93.9 -39.5 46.1] 6 ~ 22 50 [|] 15.5 — —
SATERAS L~ L T 43.2 dB 27.8 dB
BRI ILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




FHMNGRRZZET HRICETHIFMRETLAILOFARR EFHRENR

B FH#SF (H=1.2m)

TSR (XY, 7) =( 26.2 79.6 1.2)
TR0 ® HEIR A TR B el
‘ ‘ TS g | ep02 | BOTE | g | 7 e | 1
. RN FTO | o BRENGE | TR | BREAkGE | TS
Bl JE IR as | pm | mE < v , g | PotE | EE Sk B | IcBUs | EG) | ICB0D
veor o | o o Ly | () (dB) V@;V () T | SR | x| S
(dB) BREgsA | v | BREsE | L
[EE= (G (dB) k= (G (dB)
| |EA A=A AC1 1M | 52.0 J=h~fE | 100.4[ 93.5 1.0 75.5 -37.6 14.4] 8.5 ~ 22.5| 48600 s 13.7] 1800 s 2.4
% 2 |ZE =AM AC2Z | 1B | 50.0 A=f—fE | 105.5|  93.5| 1.0 80.5 -38.1 11.9[ 8.5 ~ 22.5[ 48600 s 11.2[ 1800 s 0.0
ff 3 |Z=FH M =M% AC3 | BARL| 63.0 A= 85.3| 67.5 6.7 60. 5 -35. 6 27.4/ 8.5 ~ 22.5| 48600 s 26.7| 1800 s 15. 4
) 4 |22 M =% AC4 | BAR | 63.0 A=h-fE 86.6| 67.5 6.7 61.8 -35.8 27.2| 8.5 ~ 22.5]| 48600 s 26.5| 1800 s 15.2
5 |4 =5k AC5 | EBRE| 63.0 A=h—fiE 88.0| 67.5 6.7 63. 1 -36.0 27.0/ 8.5 ~ 22.5]| 48600 s 26.3| 1800 s 15.0
6 |27 =5 AC6 | iR L | 63.0 A=h—fil 89.3| 67.5 6.7 64.5 -36. 2 26.8] 8.5 ~ 22.5| 48600 s 26.1| 1800 s 14. 8
7 |22 S ACT | BARL| 60.0 A=t 85.3| 65.7 6.7 60. 9 -35.7 24.3/ 8.5 ~ 22.5| 48600 s 23.6| 1800 s 12.3
8 |22 M =M% AC8 | BARL| 60.0 F=h—{i 86.6| 65.7 6.7 62. 2 -35.9 24.1/ 8.5 ~ 22.5]| 48600 s 23.4| 1800 s 12.1
9 (2= H =AM AC9 | BIR L[ 60.0 A= 88.0| 65.7 6.7 63.5 -36. 1 23.91 8.5 ~ 22.5]| 48600 s 23.2| 1800 s 11.9
10 | 223 HI == 51 0% AC10 | BfR | 63.0 =i~ | 103.5| 64.3 6.7 78.9 -37.9 25.11 8.5 ~ 22.5]| 48600 s 24. 4| 1800 s 13.1
11 | 2= == 51 8% AC11 | BfR | 58.0 J=h—fE | 103.5| 62.3 6.7 79. 3 -38.0 20.0| 8.5 ~ 22.5| 48600 s 19.3[ 1800 s 8.0
12 | 225 F 25 4 ACl2 | BiR E| 58.0 F=h—-fiE 72.1|  40.7 7.8 60. 5 -35.6 22.4| 8.5 ~ 22.5]| 48600 s 21.7| 1800 s 10. 4
13 |/ R s I == 5 RCl | BR | 52.5 A=l 86.4| 75.5 6.7 60. 6 -35.6 16.9] 0 ~ 24 | 57600 s 16.9| 28800 s 16.9
14 | oRJs I =2 50 RC2 | BMR L[ 59.0 A= 88.4| 75.5 6.7 62.5 -35.9 23.1] 0~ 24 | 57600 s 23. 1| 28800 s 23. 1
15 |4 15 e JH =2 5B RC3 [ BiR k| 50.5 A& 86.4| 74.0 6.7 60. 7 -35.7 14.8] 0~ 24 | 57600 s 14. 8| 28800 s 14.8
16 |4 15 e JH 22 S B RC4 | BAR | 59.0 A=h—fiE 88.4| 74.0 6.7 62.7 -35.9 23.1] 0 ~ 24 | 57600 s 23.1| 28800 s 23.1
L7 | R e == A RC5 | BIR | 54.0 A=h—E | 104.8[  64.1 6.7 80. 3 -38.1 15.9] 0~ 24 | 57600 s 15.9| 28800 s 15.9
18|57 7 v~ F1 10 | 32.0 A=h—fi 69.9| 46.1 4.2 55.1 -34.8 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
19 |[#% 7 7~ F2 1B | 31.5 A=h—{ 69.9| 45.6 4.2 55. 4 -34.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
20 (a7 7 o~ F3 10 | 31.5 A=~ 69.9| 45.2 4.2 55. 7 -34.9 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
21 [k 7 7 o~ F4 10 | 45.0 A=l 92.0| 81.4 4.1 65. 8 -36. 4 8.6 8.5 ~ 22.5| 48600 s 7.9 1800 s 0.0
22 [ 7 7 F5 1M | 45.0 A=D1 92.5| 81.4 4.1 66. 3 -36. 4 8.6(8.5 ~ 22.5| 48600 s 7.9 1800 s 0.0
23 (a7 7 F6 10 | 45.0 A=h—fi 93.0| 81.4 4.1 66. 8 -36.5 8.5[ 8.5 ~ 22.5| 48600 s 7.8 1800 s 0.0
24 |57 7~ F7 10 | 45.0 F=h—M 93.5| 81.4 4.1 67.3 -36. 6 8.4/ 8.5 ~ 22.5| 48600 s 7.7 1800 s 0.0
25 [k 7 7 F8 1B | 45.0 A=l 94.0| 81.4 4.1 67.8 -36. 6 8.4/ 8.5 ~ 22.5| 48600 s 7.7 1800 s 0.0
26 [ 7 7 o~ F9 10 | 45.0 A=l 94.5| 81.4 4.1 68. 3 -36. 7 8.3[8.5 ~ 22.5| 48600 s 7.6 1800 s 0.0
27T (7 7 o~ F10 1M | 45.0 A=D1 95.0| 81.4 4.1 68. 8 -36. 8 8.2[8.5 ~ 22.5| 48600 s 7.5 1800 s 0.0
28 [k 7 7 F11 1M | 45.0 P A ) 95.5| 81.4 4.1 69. 3 -36. 8 8.2[8.5 ~ 22.5| 48600 s 7.5 1800 s 0.0
29 [ 7 7 F12 10 | 45.0 F=h—{ 96.0| 81.4 4.1 69. 8 -36.9 8.1/ 8.5 ~ 22.5| 48600 s 7.4| 1800 s 0.0
30 [T 7 F13 1P | 45.0 A=l 96.5| 81.4 4.1 70.3 -36.9 8.1] 8.5 ~ 22.5| 48600 s 7.4 1800 s 0.0
31T 7 F14 10 | 45.0 A=h—fiE 97.0| 81.4 4.1 70. 8 -37.0 8.0[ 8.5 ~ 22.5| 48600 s 7.3 1800 s 0.0
32 (KT 7 F15 1M | 45.0 A=h—fi 97.5| 8l.4 4.1 71.3 -37.1 7.9/8.5 ~ 22.5| 48600 s 7.2| 1800 s 0.0
33 (KT 7 F16 10 | 32.0 F=b-fE | 101.3] 93.1 3.2 76.3 -37.7 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
MR T 7 F17 1B | 32.0 - | 102.9]  93.1 3.2 77.9 -37.8 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
35 R T 7 F18 10 | 45.0 F=h—fE | 107.4| 87.3 3.6 81.5 -38.2 6.8/ 8.5 ~ 22.5| 48600 s 6.1 1800 s 0.0
36 [T 7 F19 10 | 31.5 A=h—E | 107.4| 54.4 3.6 85. 0 -38.6 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
37 (KT 7 F20 1B | 45.0 b | 107.4| 52.3 3.6 85. 6 -38.7 6.3]8.5 ~ 22.5| 48600 s 5.6 1800 s 0.0
38 (K7 7 F21 10 | 26.0 F=b-fE | 107.4| 50.6 3.6 86. 2 -38.7 0.0[ 8.5 ~ 22.5| 48600 s 0.0[ 1800 s 0.0
SR 7 HL T AT 1B | 82.0 *'|FEBlxE - - - - - -85 ~ 225 BIFE1 42.0| AIFE1 21.2
%‘J filf SIE & S H AT 1B | 92.2 Y| As] - - - - - -1 6 ~ 22| B2 17.8 - -
§ BEIEMIVENEZE 1% [ 89.2 FhlxE| 104.8] 44.1 1.0 86. 2 -38.7 50.5| 6 @~ 22 360 s 28.5 — —
Lgé WSIEE RO BlEER T — | 1B | 91.9 FHl&E| 104.8] 44.1 1.0 86. 2 -38.7 53.2] 6 @~ 22 70 s 24.0 - -
iﬁ MSEEEHOT A K T 1 | 78.6 THl&E| 104.8] 44.1 1.0 86. 2 -38.7 39.9] 6 0~ 22 300 s 17.1 — —
S IXEBHETHE 1P | 85.5 Fol&#E| 104.8] 44.1 0.0 86. 2 -38.7 46.8] 6 ~ 22 300 s 24. 0 - —
i SIXEMTALE 1M | 85.6 *2|Fg|xE| 104.8] 44.1 0.0 86. 2 -38.7 46.9] 6 ~ 22 50 [|] 16.3 — —
SATERAS L~ L T 43.2 dB 29. 4 dB
BRI ILYE 60 dB 50 dB

(fE#5) X LIZARMEEE AT — UL 32 TEEIREE (Im) 1281 2 BIERE & L~V 2R T,

BEE LV O PRIBHEICIE, EIERZZE L T A,




AR, RIEEEMETOFMES LANLGFGER

) AR (m) He AT (m) I HMBE LY URR]) @ LAeq (dB)
Efﬁ A A B C D E F
o X Y z X Y Z | /B | _ _ _ _ _
H=1.2m | H=1.2m | H=1.2m | H=1.2m | H=1.2m | H=1.2m
R1 97.7| 20.4 0.0] 98.0] 31.1 0.0 1114 24.2 25.0 34.3 21.0 20.3 20. 6
R2 98.0[ 31.1 0.0] 104.8] 31.1 0.0 1114 22.8 24.1 29. 6 18.8 18.2 18.6
R3 98.0[ 31.1 0.0] 88.0] 31.1 0.0 1114 24.9 24.9 31.5 21.4 20.7 21.1
R4 88.0[ 31.1 0.0 75.3] 31.1 0.0 1114 26.0 24.6 31.5 23.8 22.9 23.2
R5 75.3]  31.1 0.0] 64.9] 32.6 0.0 1114 24.9 22.6 28.7 24.6 23.4 23.4
R6 64.9| 32.6 0.0] 64.9] 69.8 0.0 1114 33.9 28.2 30. 8 30. 8 30. 4 31.6
R7 64.9[ 69.8 0.0] 64.9] 78.3 0.0 1114 31.2 22.0 21.3 23.2 24. 1 26.8
R8 64.9[ 69.8 0.0] 56.9] 69.8 0.0 1114 29.1 21.2 21.2 23.8 24.7 27.2
R9 56.9] 69.8 0.0 51.7| 67.2 0.0 1114 25.9 19.0 19.4 23.4 24.5 27.3
R10 44.2|  64.6 0.0] 38.8] 63.0 0.0 1114 23.1 17.7 19.0 26.3 27.8 30. 0
R11 38.8]  63.0 0.0] 33.7| 46.3 0.0 557 23.7 19.2 21.3 31.3 30. 8 30.5
R12 33.7|  46.3 0.0] 18.1] 51.0 0.0 557 21.6 17.8 20. 3 36.9 32.9 28.6
R13 18.1] 51.0 0.0] 24.3] 71.2 0.0 557 22.9 18.7 20. 4 35.5 39.5 35.5
R14 24.3[  71.2 0.0] 39.9] 66.5 0.0 557 23.6 18.5 19.5 28.6 32.9 37.1
R15 39.9] 66.5 0.0] 38.8] 63.0 0.0 557 18.2 12.9 14.2 22.0 23.8 26. 3
)5 B L EAT OISR S L~V URR) : LAeq 38.8 34. 4 39.7 41. 4 42. 4 42.0
) LS (m) FERUEAE (m) i HAMbEE L ~UL (&) LAeq (dB)
Eﬁﬁ < v , < v , A2 Bt A B C D E F
' (/B | oy om | H=tom | H=12m | H=12m | H=12m | HEL2m
R1 97.7| 20.4 0.0] 98.0] 31.1 0.0 20 9.7 10.6 19.8 6.6 5.8 6.2
R2 98.0[ 31.1 0.0] 104.8] 31.1 0.0 20 8.4 9.7 15. 1 4.4 3.7 4.2
R3 98.0[ 31.1 0.0] 88.0] 31.1 0.0 20 10. 4 10. 4 17.1 7.0 6.3 6.6
R4 88.0[ 31.1 0.0] 75.3] 31.1 0.0 20 11.5 10. 2 17.1 9.4 8.4 8.7
R5 75.3] 311 0.0] 64.9] 32.6 0.0 20 10.4 8.1 14.2 10. 2 8.9 9.0
R6 64.9| 32.6 0.0] 64.9] 69.8 0.0 20 19. 4 13.8 16.3 16. 4 16.0 17.1
R7 64.9[ 69.8 0.0] 64.9] 78.3 0.0 20 16.8 7.5 6.8 8.8 9.7 12.3
R8 64.9[ 69.8 0.0] 56.9] 69.8 0.0 20 14.7 6.8 6.7 9.3 10. 2 12.8
R9 56.9] 69.8 0.0] 51.7| 67.2 0.0 20 11.5 4.6 5.0 9.0 10.0 12.8
R10 44.2| 64.6 0.0 38.8] 63.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
R11 38.8]  63.0 0.0] 33.7| 46.3 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
R12 33.7|  46.3 0.0] 18.1] 51.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
R13 18.1] 51.0 0.0] 24.3] 71.2 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
R14 24.3]  71.2 0.0 39.9] 66.5 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
R15 39.9] 66.5 0.0] 38.8] 63.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0
Sk )il & I AT O EAMERS L~V (18E]) ¢ LAeq 23.6 19.3 24.9 20. 0 19.8 21.2
fE%) BEE LV OTPREFEICE, B EEEZZELTBY A,
Alk2. FESEEFEMETOFMERS L NILETER
, i REAE (m) He A (m) T EMiSRE L~ (B : LAeq (dB)
Efoﬁ X v , < v , 2R A B C D E F
(B2 | yoy om | H=t.2m | H=1.2m | H=1.2m | H=1.2m | H=1.2m
R1 97.7| 20.4 0.0] 98.0] 31.1 0.0 14 15.4 16. 2 25.5 12.2 11.5 11.8
R2 98.0[ 31.1 0.0] 104.8] 31.1 0.0 14 14.0 15.3 20. 8 10.0 9.4 9.8
R3 98.0[ 31.1 0.0] 88.0] 31.1 0.0 14 16.0 16.1 22.7 12.6 11.9 12.3
R16 104.8] 31.1 0.0] 104.8] 44.1 0.0 14 17.7 19.6 21.6 12.5 12.1 12.7
T &0F & B S AT OSMERS L UL UB) : LAeq 22.0 23.2 29.1 18.0 17. 4 17.8
E%5) BE LV OTPREEICE, B EEEZSBE L TR HA,

BRI T (22F~36MF) (2, faf SIXZ FHEWOETITH D £ A,




REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B THHRa (H=1.2m)

TR (LY, 72) =( 64.7 83.2 , 1.2 )
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 37.1 -31.4[ 8.5 ~ 22.5[| 1800 s 20. 6
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 42.0 -32.5[8.5 ~ 22.5| 1800 s 17.5
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 26. 4 -28.4[ 8.5 ~ 22.5| 1800 s 34.6
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 27.5 -28.8/ 8.5 ~ 22.5[ 1800 s 34.2
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 28. 6 -29.1/ 8.5 ~ 22.5| 1800 s 33.9
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 29. 7 -20.4[ 8.5 ~ 22.5| 1800 s 33.6
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 27.6 -28.8/ 8.5 ~ 22.5| 1800 s 31.2
8 (2= H =4k AC8 | BIR L[ 60.0 A=l 86.6|  65.7 6.7 28. 6 -29.1[ 8.5 ~ 22.5[ 1800 s 30.9
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 29. 6 -29.4[8.5 ~ 22.5| 1800 s 30.6
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 43.5 -32.8/ 8.5 ~ 22.5| 1800 s 30. 2
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 44. 4 -32.9[8.5 ~ 22.5| 1800 s 25.1
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 43.7 -32.8[8.5 ~ 22.5| 1800 s 25. 2
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 23.7 -27.5 0~ 24 [ 28800 s 25.0
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 25.5 -28.1] 0~ 24 [ 28800 s 30.9
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 24. 2 -27.71 0~ 24 | 28800 s 22.8
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 26.0 -28.3 0~ 24 | 28800 s 30.7
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 44.7 -33.0] 0 ~ 24 | 28800 s 21.0
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 37.6 -31.5[8.5 ~ 22.5| 1800 s 0.5
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 38.1 -31.6[ 8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 38.5 -31.7[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 27.5 -28.8[8.5 ~ 22.5| 1800 s 16.2
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 28.0 -28.9[8.5 ~ 22.5| 1800 s 16. 1
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 28.5 -29.1[ 8.5 ~ 22.5| 1800 s 15.9
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 29.0 -29.2[8.5 ~ 22.5| 1800 s 15.8
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 29.5 -29.4[ 8.5 ~ 22.5| 1800 s 15.6
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 30.0 -29.5/ 8.5 ~ 22.5| 1800 s 15.5
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 30.5 -29.7(8.5 ~ 22.5| 1800 s 15.3
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 31.0 -29.8[8.5 ~ 22.5| 1800 s 15.2
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 31.5 -30.0[ 8.5 ~ 22.5| 1800 s 15.0
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 31.9 -30.1[ 8.5 ~ 22.5| 1800 s 14.9
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 32.4 -30.2/ 8.5 ~ 22.5| 1800 s 14.8
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 32.9 -30.4[ 8.5 ~ 22.5| 1800 s 14.6
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 38.0 -31.6[ 8.5 ~ 22.5| 1800 s 0.4
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 39.5 -31.9[8.5 ~ 22.5| 1800 s 0.1
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 42.9 -32.7(8.5 ~ 22.5| 1800 s 12.3
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 51.5 -34.2[8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 52. 7 -34.4[ 8.5 ~ 22.5| 1800 s 10.6
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 53.8 -34.6[ 8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *'[Fg|xE| 64.9] 78.3 0.0 5.1 -22.1/8.5 ~ 22.5 20 A 59.9
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 59.9  dB
B g 45 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,




REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#AD (H=1.2m)

TS (Y, 7) =( 109.5 30.2 1.2 )
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 64.0 -36.1[ 8.5 ~ 22.5| 1800 s 15.9
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 63.5 -36.1[ 8.5 ~ 22.5| 1800 s 13.9
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 44.9 -33.0[ 8.5 ~ 22.5| 1800 s 30.0
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 44. 2 -32.9/ 8.5 ~ 22.5( 1800 s 30. 1
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 43.5 -32.8/ 8.5 ~ 22.5| 1800 s 30. 2
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 42.8 -32.6[8.5 ~ 22.5| 1800 s 30. 4
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 43.3 -32.7/ 8.5 ~ 22.5| 1800 s 27.3
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 42. 6 -32.6[ 8.5 ~ 22.5[ 1800 s 27.4
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 41.9 -32.4[ 8.5 ~ 22.5| 1800 s 27.6
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 35.1 -30.9/ 8.5 ~ 22.5| 1800 s 32.1
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 33.2 -30.4[ 8.5 ~ 22.5| 1800 s 27.6
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 39. 4 -31.9[8.5 ~ 22.5| 1800 s 26.1
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 51.1 -34.2[ 0~ 24 [ 28800 s 18.3
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 50. 3 -34.00 0 ~ 24 [ 28800 s 25.0
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 49.8 -33.9] 0 ~ 24 | 28800 s 16.6
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 48.9 -33.8] 0 ~ 24 | 28800 s 25. 2
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 34.7 -30.8 0 ~ 24 | 28800 s 23.2
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 42.8 -32.6[ 8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 42.6 -32.6[8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 42.4 -32.6[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 54. 2 -34.7(8.5 ~ 22.5| 1800 s 10.3
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 54.1 -34.7(8.5 ~ 22.5| 1800 s 10.3
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 53.9 -34.6[ 8.5 ~ 22.5| 1800 s 10. 4
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 53.8 -34.6[ 8.5 ~ 22.5| 1800 s 10. 4
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 53.6 -34.6[ 8.5 ~ 22.5| 1800 s 10. 4
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 53.5 -34.6/ 8.5 ~ 22.5| 1800 s 10. 4
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 53.3 -34.5[8.5 ~ 22.5| 1800 s 10.5
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 53.2 -34.5/ 8.5 ~ 22.5| 1800 s 10.5
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 53.1 -34.5[8.5 ~ 22.5| 1800 s 10.5
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 53.0 -34.5[8.5 ~ 22.5| 1800 s 10.5
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 52.8 -34.5/ 8.5 ~ 22.5| 1800 s 10.5
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 52. 7 -34.4[ 8.5 ~ 22.5| 1800 s 10.6
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 63.5 -36.1[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 63.3 -36.0[ 8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 57.3 -35.2[ 8.5 ~ 22.5| 1800 s 9.8
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 24.5 -27.8[8.5 ~ 22.5| 1800 s 3.7
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 22. 4 -27.0[ 8.5 ~ 22.5| 1800 s 18.0
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 20. 7 -26.3[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *'[FglxE| 104.8 31.1 0.0 4.9 -21.8/ 8.5 ~ 22.5 20 A 60. 2
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 60.2 dB
B g 55 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,

10




REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B iR c (H=1.2m)

TS (Y, 7) =(  93.8 21. 1, 1.2 )
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 72.7 -37.2[8.5 ~ 22.5| 1800 s 14. 8
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 73. 4 -37.3[8.5 ~ 22.5| 1800 s 12.7
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 47.5 -33.5[8.5 ~ 22.5| 1800 s 29.5
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 47.3 -33.5/ 8.5 ~ 22.5( 1800 s 29.5
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 47.1 -33.5/ 8.5 ~ 22.5| 1800 s 29.5
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 47.0 -33.4[ 8.5 ~ 22.5| 1800 s 29. 6
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 45.7 -33.2/ 8.5 ~ 22.5| 1800 s 26. 8
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 45.5 -33.2[8.5 ~ 22.5[ 1800 s 26.8
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 45.3 -33.1[ 8.5 ~ 22.5| 1800 s 26.9
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 44.6 -33.0/ 8.5 ~ 22.5| 1800 s 30.0
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 42.7 -32.6[8.5 ~ 22.5| 1800 s 25. 4
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 30.0 -29.5[8.5 ~ 22.5| 1800 s 28.5
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 55.1 -34.8] 0~ 24 [ 28800 s 17.7
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 54.9 -34.8] 0~ 24 | 28800 s 24. 2
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 53.7 -34.6] 0 ~ 24 | 28800 s 15.9
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 53.4 -34.6] 0 ~ 24 | 28800 s 24. 4
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 44.7 -33.0] 0 ~ 24 | 28800 s 21.0
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 34. 7 -30.8[ 8.5 ~ 22.5| 1800 s 1.2
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 34. 4 -30.7(8.5 ~ 22.5| 1800 s 0.8
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 34.1 -30.6[ 8.5 ~ 22.5| 1800 s 0.9
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 60. 4 -35.6/ 8.5 ~ 22.5| 1800 s 9.4
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 60. 4 -35.6/ 8.5 ~ 22.5| 1800 s 9.4
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 60. 4 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 60. 5 -35.6/ 8.5 ~ 22.5| 1800 s 9.4
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 60. 5 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 72. 4 -37.2[8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 72.6 -37.2[8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 67.7 -36.6[ 8.5 ~ 22.5| 1800 s 8.4
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 36.1 -31.1[ 8.5 ~ 22.5| 1800 s 0.4
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 34.1 -30.7( 8.5 ~ 22.5| 1800 s 14.3
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 32.5 -30.2[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *[Fg|xE| 9.7 20.4 0.0 4.2 -20.4| 8.5 ~ 22.5 20 A 61.6
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 61.6 dB
B g 55 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#SRd (H=1.2m)

TS (Y, 7) =(  14.5 43.3 , 1.2 )
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 99.5 -40.0[ 8.5 ~ 22.5| 1800 s 12.0
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 103.9 -40.3[ 8.5 ~ 22.5| 1800 s 9.7
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 75.0 -37.5[8.5 ~ 22.5| 1800 s 25.5
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 76. 3 -37.6/ 8.5 ~ 22.5[ 1800 s 25.4
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 77.5 -37.8/ 8.5 ~ 22.5| 1800 s 25.2
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 78.8 -37.9[8.5 ~ 22.5| 1800 s 25.1
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 74. 4 -37.4/ 8.5 ~ 22.5| 1800 s 22.6
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 75.7 -37.6[ 8.5 ~ 22.5[ 1800 s 22.4
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 77.0 -37.7(8.5 ~ 22.5[| 1800 s 22.3
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 91.6 -39.2| 8.5 ~ 22.5| 1800 s 23.8
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 91.1 -39.2[8.5 ~ 22.5| 1800 s 18.8
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 58.0 -35.3[ 8.5 ~ 22.5| 1800 s 22.7
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 79.0 -37.9] 0~ 24 [ 28800 s 14.6
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 80.8 -38.1] 0~ 24 [ 28800 s 20.9
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 78.4 -37.9] 0~ 24 | 28800 s 12.6
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 80. 2 -38.1 0 ~ 24 | 28800 s 20.9
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 92.8 -39.4 0~ 24 | 28800 s 14.6
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 55.5 -34.9[8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 55.5 -34.9[8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 55.5 -34.9[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 86. 4 -38.7(8.5 ~ 22.5| 1800 s 6.3
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 86. 8 -38.8[8.5 ~ 22.5| 1800 s 6.2
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 87.3 -38.8[8.5 ~ 22.5| 1800 s 6.2
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 87.7 -38.9[8.5 ~ 22.5| 1800 s 6.1
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 88. 2 -38.9[8.5 ~ 22.5| 1800 s 6.1
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 88. 6 -39.0/ 8.5 ~ 22.5| 1800 s 6.0
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 89. 1 -39.0[ 8.5 ~ 22.5| 1800 s 6.0
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 89. 5 -39.0/ 8.5 ~ 22.5| 1800 s 6.0
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 90. 0 -39.1[ 8.5 ~ 22.5| 1800 s 5.9
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 90. 4 -39.1[ 8.5 ~ 22.5| 1800 s 5.9
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 90.9 -39.2/ 8.5 ~ 22.5| 1800 s 5.8
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 91.3 -39.2[8.5 ~ 22.5| 1800 s 5.8
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 100. 1 -40.0[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 A=b-fE | 102.9[  93.1 3.2 101.5 -40.1[ 8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 102. 8 -40.2[ 8.5 ~ 22.5| 1800 s 4.8
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 93.5 -39.4[ 8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 93.3 -39.4[ 8.5 ~ 22.5| 1800 s 5.6
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 93. 2 -39.4[ 8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1M | 82.0 *'[FZ|xE| 517 67.6 0.0 44. 4 -40.9/ 8.5 ~ 22.5 20 A 41.1
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
%ﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 41.1 dB
B g 55 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B THHRe (H=1.2m)

TR (Y, 72) =(  13.0 63.7 , 1.2)
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 92. 4 -39.3[8.5 ~ 22.5[ 1800 s 12.7
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 97.2 -39.8[8.5 ~ 22.5| 1800 s 10.2
ﬁf 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 72.6 -37.2[8.5 ~ 22.5| 1800 s 25. 8
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 74.0 -37.4| 8.5 ~ 22.5[ 1800 s 25.6
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 75.3 -37.5/ 8.5 ~ 22.5| 1800 s 25.5
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 76.6 -37.718.5 ~ 22.5| 1800 s 25.3
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 72.6 -37.2/ 8.5 ~ 22.5| 1800 s 22.8
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 73.9 -37.4[ 8.5 ~ 22.5[ 1800 s 22.6
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 75. 2 -37.5[ 8.5 ~ 22.5[| 1800 s 22.5
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 90.7 -39.2| 8.5 ~ 22.5| 1800 s 23.8
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 90. 7 -39.2[8.5 ~ 22.5| 1800 s 18.8
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 63. 8 -36.1[ 8.5 ~ 22.5| 1800 s 21.9
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 74.6 -37.5] 0~ 24 [ 28800 s 15.0
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 76.5 -37.71 0~ 24 | 28800 s 21.3
15 | R == 4 RC3 | BMR | 50.5 A= 86.4| 74.0 6.7 74. 4 -37.4f 0~ 24 [ 28800 s 13.1
16 | ¢ R S5 A RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 76.3 -37.71 0~ 24 | 28800 s 21.3
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 92.0 -39.3] 0~ 24 | 28800 s 14.7
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 59. 7 -35.5[8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 59. 8 -35.5[8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 59.9 -35.6[ 8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 81.0 -38.2[8.5 ~ 22.5| 1800 s 6.8
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 81.5 -38.2[8.5 ~ 22.5| 1800 s 6.8
23 |% 7 7 F6 10 | 45.0 F=h—{ 93.0| 81.4 4.1 82.0 -38.3[8.5 ~ 22.5| 1800 s 6.7
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 82.5 -38.3[8.5 ~ 22.5| 1800 s 6.7
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 83.0 -38.4[ 8.5 ~ 22.5| 1800 s 6.6
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 83.5 -38.4/ 8.5 ~ 22.5[ 1800 s 6.6
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 84.0 -38.5[8.5 ~ 22.5| 1800 s 6.5
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 84. 4 -38.5/ 8.5 ~ 22.5| 1800 s 6.5
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 84.9 -38.6[8.5 ~ 22.5| 1800 s 6.4
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 85. 4 -38.6[8.5 ~ 22.5| 1800 s 6.4
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 85.9 -38.7/ 8.5 ~ 22.5| 1800 s 6.3
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 86. 4 -38.7(8.5 ~ 22.5| 1800 s 6.3
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 93.1 -39.4[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 94.6 -39.5[8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 97. 4 -39.8[8.5 ~ 22.5| 1800 s 5.2
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 94.9 -39.5[8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 95.1 -39.6[ 8.5 ~ 22.5| 1800 s 5.4
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 95. 3 -39.6[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1M | 82.0 *'[FZ|xE| 517 67.6 0.0 38.9 -39.8/ 8.5 ~ 22.5 20 A 42.2
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%?%ﬂ%ﬁ% 1B | [REREEHI/EELS D EEA] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 42.2  dB
B g 55 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#Sf (H=1.2m)

TSR (XY, 7) =(  38.8 78.7 1.2)
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 63. 4 -36.0[ 8.5 ~ 22.5[ 1800 s 16.0
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 68. 3 -36.7[8.5 ~ 22.5| 1800 s 13.3
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 48.2 -33.7(8.5 ~ 22.5| 1800 s 29.3
) 4 |2 =S AC4 | EBIR L] 63.0 F=h—fiE 86.6| 67.5 6.7 49.5 -33.9/ 8.5 ~ 22.5( 1800 s 29. 1
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 50. 7 -34.1/ 8.5 ~ 22.5| 1800 s 28.9
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 52.0 -34.3[8.5 ~ 22.5| 1800 s 28.7
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 48.6 -33.7/ 8.5 ~ 22.5| 1800 s 26. 3
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 49.9 -34.0[ 8.5 ~ 22.5[ 1800 s 26. 0
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 51.2 -34.2[8.5 ~ 22.5[| 1800 s 25. 8
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 66. 5 -36.5/ 8.5 ~ 22.5| 1800 s 26.5
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 67.0 -36.5[8.5 ~ 22.5| 1800 s 21.5
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 50.9 -34.1[ 8.5 ~ 22.5| 1800 s 23.9
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 48.1 -33.6] 0~ 24 [ 28800 s 18.9
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 50. 0 -34.00 0 ~ 24 [ 28800 s 25.0
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 48.2 -33.71 0~ 24 | 28800 s 16.8
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 50. 2 -34.00 0 ~ 24 | 28800 s 25.0
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 67.8 -36.6] 0 ~ 24 | 28800 s 17.4
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 45.2 -33.1[ 8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 45.5 -33.2[8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 45.8 -33.2[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 53. 4 -34.5[8.5 ~ 22.5| 1800 s 10.5
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 53.9 -34.6[ 8.5 ~ 22.5| 1800 s 10. 4
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 54. 4 -34.7(8.5 ~ 22.5| 1800 s 10.3
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 54.9 -34.8[8.5 ~ 22.5| 1800 s 10. 2
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 55. 4 -34.9[8.5 ~ 22.5| 1800 s 10. 1
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 55.9 -34.9/ 8.5 ~ 22.5| 1800 s 10. 1
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 56. 4 -35.0[ 8.5 ~ 22.5| 1800 s 10.0
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 56.9 -35.1|/ 8.5 ~ 22.5| 1800 s 9.9
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 57.4 -35.2[ 8.5 ~ 22.5| 1800 s 9.8
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 57.9 -35.2[ 8.5 ~ 22.5| 1800 s 9.8
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 58. 4 -35.3/ 8.5 ~ 22.5| 1800 s 9.7
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 58.9 -35.4[ 8.5 ~ 22.5| 1800 s 9.6
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 64. 2 -36.2[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 65. 8 -36.4[ 8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 69. 2 -36.8[ 8.5 ~ 22.5| 1800 s 8.2
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 72.8 -37.2[8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 73.5 -37.3[ 8.5 ~ 22.5| 1800 s 7.7
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 74.2 -37.4[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1M | 82.0 *'[FZ|xE| 517 67.6 0.0 17.0 -32.6/8.5 ~ 22.5 20 A 49. 4
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
%ﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 49.4 dB
B g 55 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B TH#Ra’ (H=1.2m)
TR (Y, 7) =( 29.6 94.4 , 1.2 )
e FIRE &l
\ ‘ T - e e | IR
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 70. 8 -37.0[ 8.5 ~ 22.5[| 1800 s 15.0
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 75.9 -37.6[8.5 ~ 22.5| 1800 s 12. 4
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 62.1 -35.9[8.5 ~ 22.5| 1800 s 27.1
) 4 |2 =S AC4 | EBIR L] 63.0 A=A 86.6| 67.5 6.7 63.3 -36.0/ 8.5 ~ 22.5[ 1800 s 27.0
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 64.5 -36.2| 8.5 ~ 22.5| 1800 s 26. 8
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 65. 7 -36.3[ 8.5 ~ 22.5| 1800 s 26. 7
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 62.9 -36.0/ 8.5 ~ 22.5| 1800 s 24.0
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 64. 1 -36.1[ 8.5 ~ 22.5[ 1800 s 23.9
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 65. 3 -36.3[ 8.5 ~ 22.5[| 1800 s 23.7
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 80. 0 -38.1/ 8.5 ~ 22.5| 1800 s 24.9
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 80. 7 -38.1[ 8.5 ~ 22.5| 1800 s 19.9
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 68. 8 -36.8[ 8.5 ~ 22.5| 1800 s 21.2
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 60. 1 -35.6 0 ~ 24 [ 28800 s 16.9
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 62.0 -35.8] 0~ 24 [ 28800 s 23.2
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 60. 6 -35.71 0~ 24 | 28800 s 14.8
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 62.5 -35.9] 0 ~ 24 | 28800 s 23.1
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 81.2 -38.2 0~ 24 | 28800 s 15.8
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 63.0 -36.0[ 8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 63.3 -36.0[ 8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 63. 7 -36.1[ 8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 63. 8 -36.1[ 8.5 ~ 22.5| 1800 s 8.9
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 64. 3 -36.2[ 8.5 ~ 22.5| 1800 s 8.8
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 64. 7 -36.2[ 8.5 ~ 22.5| 1800 s 8.8
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 65. 2 -36.3[ 8.5 ~ 22.5| 1800 s 8.7
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 65. 7 -36.4[ 8.5 ~ 22.5| 1800 s 8.6
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 66. 2 -36.4/ 8.5 ~ 22.5| 1800 s 8.6
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 66. 7 -36.5[8.5 ~ 22.5| 1800 s 8.5
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 67.2 -36.5/8.5 ~ 22.5| 1800 s 8.5
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 67.7 -36.6[8.5 ~ 22.5| 1800 s 8.4
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 68. 2 -36.7[8.5 ~ 22.5| 1800 s 8.3
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 68. 7 -36.7/ 8.5 ~ 22.5| 1800 s 8.3
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 69. 2 -36.8[ 8.5 ~ 22.5| 1800 s 8.2
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 71.7 -37.1[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 73.3 -37.3[ 8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 78.1 -37.9[8.5 ~ 22.5| 1800 s 7.1
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 87.5 -38.8[8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 88.5 -38.9[8.5 ~ 22.5| 1800 s 6.1
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 89. 3 -39.0[ 8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *'[Fg|xE| 64.9] 78.3 0.0 38.8 -39.8/ 8.5 ~ 22.5 20 A 42.2
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1B | [REREEHI/EELS D EEA] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 42.2  dB
B g 45 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FAH#HRD’ (H=1.2m)
TSR (Y, 7) =( 136.6 40.1 , 1.2 )
e FIRE &l
\ ‘ T - e e | IR
L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN
(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 64. 6 -36.2[ 8.5 ~ 22.5[ 1800 s 15.8
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 61.9 -35.8[ 8.5 ~ 22.5| 1800 s 14.2
§§ 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 58.5 -35.3[ 8.5 ~ 22.5| 1800 s 27.7
) 4 |2 =S AC4 | EBIR L] 63.0 A=A 86.6| 67.5 6.7 57.3 -35.2| 8.5 ~ 22.5[ 1800 s 27.8
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 56. 2 -35.0/ 8.5 ~ 22.5| 1800 s 28.0
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 55.0 -34.8[8.5 ~ 22.5| 1800 s 28. 2
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 57.6 -35.2/ 8.5 ~ 22.5| 1800 s 24. 8
8 (2= H =4k AC8 | AR L | 60.0 A=l 86.6|  65.7 6.7 56. 4 -35.0[ 8.5 ~ 22.5[ 1800 s 25. 0
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 55.3 -34.8[ 8.5 ~ 22.5[ 1800 s 25. 2
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 41.4 -32.3/ 8.5 ~ 22.5| 1800 s 30. 7
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 40.3 -32.1[ 8.5 ~ 22.5| 1800 s 25.9
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 64.9 -36.2[ 8.5 ~ 22.5| 1800 s 21.8
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 61.7 -35.8] 0~ 24 [ 28800 s 16.7
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 60. 1 -35.6] 0 ~ 24 [ 28800 s 23. 4
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 60. 8 -35.71 0~ 24 | 28800 s 14.8
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 59. 2 -35.4f 0~ 24 | 28800 s 23.6
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 40.3 -32.1 0~ 24 | 28800 s 21.9
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 67.1 -36.5[8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 67.0 -36.5[8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 67.0 -36.5[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 60. 9 -35.7( 8.5 ~ 22.5| 1800 s 9.3
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 60. 6 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 60. 2 -35.6[ 8.5 ~ 22.5| 1800 s 9.4
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 59. 8 -35.5[8.5 ~ 22.5| 1800 s 9.5
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 59.5 -35.5[8.5 ~ 22.5| 1800 s 9.5
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 59. 1 -35.4/ 8.5 ~ 22.5| 1800 s 9.6
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 58. 8 -35.4[ 8.5 ~ 22.5| 1800 s 9.6
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 58. 4 -35.3/8.5 ~ 22.5| 1800 s 9.7
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 58.0 -35.3[8.5 ~ 22.5| 1800 s 9.7
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 57.7 -35.2[ 8.5 ~ 22.5| 1800 s 9.8
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 57. 4 -35.2/ 8.5 ~ 22.5| 1800 s 9.8
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 57.0 -35.1[ 8.5 ~ 22.5| 1800 s 9.9
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 63. 7 -36.1[ 8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 62.9 -36.0[ 8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 55. 6 -34.9[8.5 ~ 22.5| 1800 s 10. 1
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 32.7 -30.3[ 8.5 ~ 22.5| 1800 s 1.2
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 31.8 -30.0[ 8.5 ~ 22.5| 1800 s 15.0
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 31.2 -29.9[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *'[FglxE| 104.8 31.1 0.0 33.1 -38.4/8.5 ~ 22.5 20 A 43.6
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1B | [REREEHI/EELS D EEA] - -6 ~ 22 - -
éﬁ%ﬁ%ﬁ%ﬁ&ﬁ%@%ﬁfﬁ— 10| [EMRFEFICEETS D £EA] - -1 6 ~ 22 — —
Blirs gz dpor o kv LB | [RMRRIE (F e 0 £ A ] - 16 ~ 2 - -
i SIXEREETE 1R | [RERFHEICERILD Y £ A] - -6 ~ 2 - -
MSIFEMEALE 1R | [REREHRICER T D 8 A] - -6 ~ 22 - -
BEE L L 0D i KA D TS R 43.6  dB
B g 45 dB

(f5B) X LIXARMEEENRY — L~V ERT,

BEE L-L o PRIBHEICIE, EIERZZE L T A,
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REICEWTRAIT IBEORAFRLOBELUANILOZKED T AR L FHRA

B FHH#SC (H=1.2m)

TS (Y, 7) =(  95.3 6.6, 1.2)
e FIRE &l

\ ‘ T - e e | IR
mowen | D) g | | e e | S| e

L~ FRAL (dB) (IR5) X 5
(dB) (m) (m) (m) (m) reoyn IE//\/I/Q
i(ap | PN

(dB)
| L [ AC1 1M | 52.0 F=h-fE | 100.4f 93.5 1.0 87.1 -38.8[8.5 ~ 22.5[ 1800 s 13.2
;2 2 |Z=FH M =% AC2 1M | 50.0 A=h—fE | 105.5]  93.5 1.0 87.5 -38.8[8.5 ~ 22.5| 1800 s 11.2
ﬁf 3 |2 M =5k AC3 | BAR | 63.0 A=h-fE 85.3| 67.5 6.7 62.0 -35.8[8.5 ~ 22.5| 1800 s 27.2
) 4 |2 =S AC4 | EBIR L] 63.0 A=A 86.6| 67.5 6.7 61.8 -35.8/ 8.5 ~ 22.5[ 1800 s 27.2
5 (27 ) =5 AC5 | R E| 63.0 A=h—fE 88.0] 67.5 6.7 61.6 -35.8/ 8.5 ~ 22.5| 1800 s 27.2
6 |22 =Mk AC6 | BR[| 63.0 A=D1 89.3| 67.5 6.7 61.5 -35.8[ 8.5 ~ 22.5| 1800 s 27.2
7 |ZER I EE S ACT | BAR | 60.0 F=h—fi 85.3| 65.7 6.7 60. 1 -35.6/ 8.5 ~ 22.5| 1800 s 24. 4
8 (2= H =4k AC8 | BIR L[ 60.0 A=l 86.6|  65.7 6.7 59.9 -35.6[ 8.5 ~ 22.5[ 1800 s 24. 4
9 (=7 =S AC9 | B E| 60.0 A=l 88.0| 65.7 6.7 59. 8 -35.5[ 8.5 ~ 22.5[| 1800 s 24.5
10 |22 FH == 51 8% AC10 | BfR | 63.0 A=h—fE 103.5|  64.3 6.7 58.5 -35.3/ 8.5 ~ 22.5| 1800 s 27.7
11 | 225 2= 4 ACll | B#R E| 58.0 =il | 103.5|  62.3 6.7 56. 6 -35.1[ 8.5 ~ 22.5| 1800 s 22.9
12 | ZZ 3R == 5 AC12 | AR L | 58.0 F=h—{i 72.1|  40.7 7.8 41.8 -32.4[8.5 ~ 22.5| 1800 s 25. 6
13 |/ R e I =2 S RCl [ R L| 52.5 F=I—fE 86.4| 75.5 6.7 69. 6 -36.9] 0~ 24 [ 28800 s 15.6
14 |4 5 e FH =2 5B RC2 | BAR | 59.0 A==l 88.4| 175.5 6.7 69. 4 -36.8] 0~ 24 [ 28800 s 22. 2
15 | R == 4 RC3 | B | 50.5 A=D1 86.4| 74.0 6.7 68. 2 -36.7| 0 ~ 24 | 28800 s 13.8
16 |3 R e == S RC4 | B | 59.0 F=h—fiE 88.4| 74.0 6.7 67.9 -36.6] 0 ~ 24 | 28800 s 22.4
17 | ¥ BRURE F 2= A RC5 | BiR | 54.0 - | 104.8[  64.1 6.7 58.6 -35.4f 0 ~ 24 | 28800 s 18.6
18|k~ 7 v F1 10 | 32.0 A=h—{ 69.9|  46.1 4.2 47.0 -33.4[ 8.5 ~ 22.5| 1800 s 0.0
19|57 7 F2 10 | 31.5 A=~ 69.9| 45.6 4.2 46.6 -33.4[ 8.5 ~ 22.5| 1800 s 0.0
20 [ 7 7 o~ F3 1P | 31.5 A=~ 69.9|  45.2 4.2 46.3 -33.3[8.5 ~ 22.5| 1800 s 0.0
21 |& 7 7 o~ F4 1M | 45.0 A=h—fiE 92.0| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
22 (M7 7 F5 10 | 45.0 A=t~ 92.5| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
23 |% 7 7 F6 10 | 45.0 A=h—f 93.0| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
24 KT 7 F7 10 | 45.0 A=l 93.5| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
25 [k 7 7 F8 1M | 45.0 F=h—fiE 94.0| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
26 K7 7 o~ F9 10 | 45.0 A=D1 94.5| 81.4 4.1 74.9 -37.5/ 8.5 ~ 22.5[ 1800 s 7.5
27T (a7 7 o~ F10 10 | 45.0 A=D1 95.0/ 81.4 4.1 74.8 -37.5[8.5 ~ 22.5| 1800 s 7.5
28 |x 7 7 F11 10 | 45.0 F=h—{ 95.5| 81.4 4.1 74. 8 -37.5/ 8.5 ~ 22.5| 1800 s 7.5
29 [k 7 7 o F12 1P | 45.0 A= 96.0| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
30 (7 7 F13 1M | 45.0 F=h—fiE 96.5| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
31T 7 Fl14 1M | 45.0 A=D1 97.0| 81.4 4.1 74.9 -37.5/ 8.5 ~ 22.5| 1800 s 7.5
2R 7 F15 10 | 45.0 P A ) 97.5| 81.4 4.1 74.9 -37.5[8.5 ~ 22.5| 1800 s 7.5
PR T 7 F16 10 | 32.0 =h—fE | 101.3]  93.1 3.2 86. 7 -38.8[8.5 ~ 22.5| 1800 s 0.0
MR T 7 F17 10 | 32.0 - | 102.9)  93.1 3.2 86. 8 -38.8[8.5 ~ 22.5| 1800 s 0.0
35 |HK 7 7 v F18 1M | 45.0 A=h—fE | 107.4 87.3 3.6 81.7 -38.2[8.5 ~ 22.5| 1800 s 6.8
36 [ 7 7 v F19 1M | 31.5 b | 107.4|  54.4 3.6 49. 4 -33.9[8.5 ~ 22.5| 1800 s 0.0
TR T 7 F20 10 | 45.0 F=b-f | 107.4| 52.3 3.6 47.3 -33.5[8.5 ~ 22.5| 1800 s 11.5
B[R T 7 F21 10 | 26.0 =h—fE | 107.4| 50.6 3.6 45.7 -33.2[8.5 ~ 22.5| 1800 s 0.0
SR 2 L AT 1P | 82.0 *[Fg|xE| 9.7 20.4 0.0 14.0 -30.9/ 8.5 ~ 22.5 20 A 51.1
2 [wsaaswmen 1B | L Y 2wl T v < = - -
é;%ﬁ%ﬂ%ﬁ% 1R | (KRR T D £8A] - -6 ~ 22 - -
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